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Chapter 1:

1. Name an organism where cell division is itself is a mode of reproduction
2. Name algae that reproduce asexually through zoospores. Why are these reproductive units so called?

3. Name the phenomenon with reference to in rotifers,honey bees and turkey.
4. All papaya plants bear flowers,but fruits are seen only in some. explain.

5. Why is a coconut plant referred to as monoecious.
6. Name the phenomenon and the cell, responsible for the development of a new individual without

fertilisation as seen in honeybees.
7. Name the mode of reproduction that ensures the creation of new variants.

8. Name the biological process that enables continuity of species.

9. Name the respective asexual reproductive structures of yeast and sponges.
10. Name the type of cell division that takes place in the zygote of an organism exhibit haplontic life cycle

11. Two inherent characteristics of Amoeba and yeast that enable them to reproduce asexually.

12. Conidia are to penicillium as are the chlamydomonas.

13. Name the human body part that can regenerate when damaged.
14. Why do intermodal segments of sugar cane fail to propagate vegetatively even when they are in conta

with damp soil?
15. Name the algae that reproduce asexually through zoospores.
16. Cucurbita and papaya plants bear staminate and pistillate flowers. B Mention the categoties they are

put under separatetly on the basis of the type of flowers they bear.

17. What is conidia?
18. Define gemmules.

19. How does potato multiply?
20. What are the technical terms used for a bisexual condition?

21. What is meant by meiocytes?
22. What are hermaphrodites?

23. What it staminode?
24. What is the technical term used to denote unisexual condition?

25. What is embryogenesis?

26. Write two advantages of vivipary.
27. What is pericarp?

28. Why amoeba is immortal?

Chapter 2:

1. An anther with malfunctioning tapetum often failstoproduce viable male gametophytes.Give reason
2. The meiocyte of rice has 24 chromosomes .How manychromosomes arepresent in the endosperm?
3. A bilobed dithecous anther has 100 microspore mother cells per microsporangium. How many male

gametophytes this anther can produce?
4. Write the function of coleoptiles.

5. Write the function of scutellum.
6. Mention one application of pollen bank. How are pollen stored in a bank?

7. Name the type of flower which favors cross pollination.
8. Name the type of pollination as a result of which genetically different types of plooen grains of the

same species land on the stigma.
9. How do pollen grains of vallisneria protect themselves?
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angiosperm bearing 25 MMCs and 25 megaspore mother cells respectively?

11. How many MMCs would be required to produce one hundred pollen grains in a pollen sac?

12. Name the kind of pollination in maize.

13. What is shield shaped single cotyledon of monocots called?

14. Name the triploid tissue in the seed.

15. What is funiculus?

16. What are the three cells found in a pollen grain when it is shed at three celled stage?

17. In the embryo of a typical dicot and a grass ,which are the true homologous structures?

18. In a case of polyembryony, if an embryo develops from the synergids and another from the nucellus,
which is haploid and which is diploid?

19. Name the product of fertilisation that forms the kernel of coconut ,how does the kernel differ from
coconut water.

22. What is the ploidy of PEN?

23. What technical term is given to the single cotyledon of grasses?
24. Name the tallest flower.

5. What is the disadvantage of continued self-pollination in plants?
26. Name the diploid nucleus of the mature embryo sac.

7. Mention the scientific term for the type of pollination between different flowers of the same plant.
8. What is hilum?

9. Strawberry is sweet and eaten raw just like any other fruit .why do botanists call it a false fruit?
0. Why do corn cobs have long tussels?

2. Normally one embryo develops in one seed, but when an orange seed is squeezed, many embryos of

different shapes and sizes are seen. Mention how it has happened002E
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